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Polynomial Review #2
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(4x+y-3)-(6x-3y+1)
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3. Simplify:
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4. Simplify:
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5. Subtract (5y2 — 8y +3) frgm (7y* —3y -4)
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6. Multiply:
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7. Multiply the following by its conjugate and
express answer in standard form.
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9. Express in standard form: 5x—x2+3+x" )( '—-X +5X +5

Degree of above polynomial: ]

10. Simplify:
a) (-3x°)? b) (2x2y?)* c) 573
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11. What is the value of 5° +672 ?
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12. Ifthe expression (2y? ) is equivalent to 16y8 , what is the value of a ?

13. Simplify: a) (2x%—4x +1)£2(x2~3x+2) b) (60%)(~84°)(64)
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14. The expression 32.33. 3% is equivalent to:




15. Simplify the expressions below:
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Word Problems:
16. For a square whose side is (x —5)feet, find the:

a) perimeter b) area Q
¥%-5 4@—\6) A =3 = (x-9)
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17. The side of a hexagon (6 sides) is represented by 4x -3. How u S

perimeter of the hexagon in terms of x?

S(4x->) = 24x18)

18. The lengths of the sides of a triangle are x -y, X +Yy, and 3x +y.
Find the perimeter of the triangle in terms ofxandy.
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19. The area of a rectangle is 10x2 - 20x . Find the width given the length is 5x.
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***20. The perimeter of a rectangle is represented by 24x - 8. If the length is represented by
3x +5, how would you represent the width in terms of x?
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Identify the property illustrated by each example:
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